
W                                   

+

N                                       

-

W                                       

+

N                                       

-

W                                       

+

N                                       

-

W                                       

+

N                                       

-

W                                       

+

N                                       

-

[ m2 ] [ m2 ] [ m2 ] [ m2 ] [ m ] [ m3 ] [ m3 ] [ m3 ] [ m3 ] [ m3 ] [ m3 ] [ m3 ]

2 3 4 5 6 7 8 9 10 11 12 13

dr. gminna Konstantynowo

44,37 10,87

488,61 0,00SUMA: 300,00 706,13 217,52 217,52

Sporządził:

0,00
488,61 0,00+ 300,00 3,61 1,230

442,29 0,00
38,71 38,71 13,88 0,00

0 275,00 2,37 1,04

2,06

1,49

1,55 25,00 52,59
0 + 250,00 1,84

+

1,77 1,77 25,00 44,37
0 + 225,00 1,71

0,00

0,00

0,00

0,88 25,00 58,07 22,01 22,01 36,062,32
392,36

0,00
428,42

0,00
428,42

44,37 44,37 0,00

2,10

+ 200,00 2,93 0,27
0,00

0

267,73 0,00
2,89 0,40 50,00 144,60

56,66
0 + 150,00 2,85 0,53

124,6319,98 19,98

0,49 25,00 68,94 12,29 12,29

24,75 76,72
0 + 125,00 2,67 0,45

2,76

2,03 0,49 50,00 101,47 24,75

10,87 33,50
0 + 075,00 1,39

0

0,54

100,85
0,00

134,35
0,00

211,07

0,00

0,00
0,00

0,00

9,46
+ 050,00 2,16 0,33

1,77 0,43 25,00

55,77 0,00
2,18 0,38 25,00 54,54 9,46

6,72 0,00
0 + 025,00 2,21 0,42

45,08 0,00

55,77
0,00 0,00

2,50 0,27 25,00 62,49 6,72
0 + 000,00 2,79 0,11

Nadmiar                      

objętość

Średnia                            

powierzchnia 

Suma                               

algebraiczna

[ km+hm ]

1

Pikietaż                           

przekroju
Odległość

Objętość Zużycie                    

na                       

miejscu

2,99 1,13 25,00

TABELA   ROBÓT   ZIEMNYCH

Powierzchnia                          

przekroju

74,69 28,37 28,37 46,32
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[ m2 ] [ m2 ] [ m2 ] [ m2 ] [ m ] [ m3 ] [ m3 ] [ m3 ] [ m3 ] [ m3 ] [ m3 ] [ m3 ]

2 3 4 5 6 7 8 9 10 11 12 13

Nadmiar                      

objętość

Średnia                            

powierzchnia 

Suma                               

algebraiczna

[ km+hm ]

1

Pikietaż                           

przekroju
Odległość

Objętość Zużycie                    

na                       

miejscu

Powierzchnia                          

przekroju


